ECfAE S O8], HFS
|O-I AEl L= AE|IEZ|A
E5 '“/Iila o[Dix]

© HEINRICH KIPP WERK GmbH & Co. KG

= E 3 I9I2E HEI| = =2
o

o = [= N} i
HEH OF2
AR T
o= T s, ot & AY s A2

FLEAF £ 212 9| F{odit
|CF. EE8F LEA AE|I=101| ZXMNY
g = e MEE &7t
23 (o] QELICH eIHA ZHX = 2ol o3 &=
fIxlel HAS YX[SHok ot O =2 EX|MHE
ML @FElE 2o AASELICH HY 2EEE
TSoE E R CIE 2 */IXE 0|SE = U&LICH
gl2do0] offt = i° 257t 88 me MER
AX|RE ALSELICH

T o
i
[H
(=

=g

LEAb 22|12 MERIZ A8 EH'— AP = HE Hof
AE Ho{Zof Z|EE MEe ol HEELICH
HEZ Ho{Z EH2 LHAL £21E2 712 H

LHEE Sof Z|ZELct

oII molI

LY Al:
S GA HE L AHO|AM B

www.kipp.com - info@kipp.com 1/2



°
= AEI olxa] Xk=1L 11| Ol (=) O|l— I
=CAE A O, 259 &3 Bl 2 712 HET s =2
AEI I:= A A AEI ClIA =
EII°* El L= _E1I°._I | A& AEOHA ZRX]
=04
D2
[ 4 | A |
;
L
i
1
1
Y |
N |
~l 1
=] |
: A
T
—~ D5 Ayt
Y Y
w
D47
A =~
0
D390,
EEY%
FE2HS B¢ 2 A D D1 D2 D3 D4 D5 L L1L2L3L4H2 AEE3 SW1 SW2 Al EbA
S ElFs =
F1 2. N F2 2 N
K0736.52105 B AE] 5 M10x1T 21 8 6 6-0,01/-002 43517 7 15 3 4 5 13 17 5 12
K0736.52206 B AE] 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.52308 B AE] 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.52410 B AEl 10 M20x1,5 33 17 11 11-0,01/-0,03 74 2812254 9 10 22 30 15 34
K0736.502105 B AE|QIHA AEl 5 M10x1 21 8 6 6-0,01/-0,02 435177 153 4 5 13 17 5 12
K0736.502206 B 2AEI2IHA AEl 6 M12x1,5 25 10 8,5 8,5-0,01/-0,03 51,720 8 17 3 5 6 14 19 6 14
K0736.502308 B AEIQIHA AEl 8 M16x1,5 33 13,5 11 11-0,01/-0,03 68 261023 4 7 8 19 24 15 35
K0736.502410 B AEQIFA AEl 10 M20x1,5 33 17 11 11-0,01/-0,03 74 2812254 9 10 22 30 15 34

© HEINRICH KIPP WERK GmbH & Co. KG www.kipp.com - info@kipp.com 2/2



